EARAZROREIERT — 2 N—XBISY —F 201858/ 7H (&) 5EIEFNSH

PR 5% 3 1 00 AR ‘ xfz] 2 ‘ [Emsh]l  — | & (&) 1400M &
[x&<£] 1 % :1,000,000 @ ~ 23 :350,000 337 :200,000 ™ ~ 43 :150,000 @ ~ 5 7 :100,000 M
BB mEBR Mk ME BF (&) 4L (&%) | BBIEG | EOF |SIEH | AR | HE | NG FIR) / BE / £EHS
e = EBH :31. -3-2- . — NAARE (GEFN)
i 3| b= N—F o — 3 " 1(3_1)6 4-3-2-1 | 39.8 1 (ﬁi) é\llllﬁé%ﬁ
L:ib—tFF—7 B:b—trIvtrX HES# IXF477—L4
2 o| h=t>7OU7 3 | BEX 1(:33/107 3-4-3-3 |39.7| — | 2 | 465 gfégﬁ (i#70)
L2 RYJYIIR BN=-HFoLy K 5 BRSH IXF177—AL4
== . i3 | REDE 1:32.8 5-5-4-4 | 40.4| — 3 446 | FEAIGE (AFD)
31111 AN 54.0 ®) +10) = BrEE ()
SRZXAR R BV FAH N Eliztve ]
— EEiE: ; -1-1- - RS (GAn)
N FIREatH i 3 i 1(73%:? 1-1-1-2 | 41.1 4 (4;3; ﬁgtgug;g
R:vavrheT B:ILN=-U—> EolEzkae]
o SN HTHE % :33. —6-6- . — HEEE (GE)
5 4 RKAXEIL "3 56.0I_a‘ﬁ (11 313/21) 6665 1395 ° :112) HEES
R:TI79v78%—K B:x Ty Jr2-7 TE FE
- i WERE 3! 9-5- 4| — WEE ()11i85)
6 6| 771 K)—0O-2X s 54.0 (1915;) A ! f;) KR ERE
R:A—Xx>J4L B:IVHhT— EF &
) N g2 _ _ — — BRI (@)
%k 5| 5| RIN=T V2T s 54.0 (shik) ® (3_859) EIE]K%{T
LIA2T7Fyva BEA7F)VHI— BHOF
@ 1 — S —EBIEf
13=7r= 7,6,2,3,1,4
A== 7,6,3,2,1,4
Jol=5r= 7,3,2,1,6,4
43—F— 3,7,2,1,4,6
[ N3
BB 3 170 714K 2-3 150H B = 2-3 300M 3EHE 1-2-3 490M
8 B 3 1209 =3 170H B H 3-2 450M K31 3-2-1 1,380M
2 1309 1-2 310

ABICOVWTRDTEEERROODE. TR LIV,



